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18] 42 # 7 mn 7 ==/ K& (HAL : pg/m’)

FHALERE ¢ 2014 EHE
TRHBEE (MR ~_— ) @ 32/36(K % : 0) A ] 2 0.14
R (Bik<—2x) : 32/36(KM% : 0) gL fiE tr(0.12)
W T IRME - 0.04 ziajt [ 6.0
TE R T RME : 0.13 5o/ ME nd
AR - i 1 Yo TT—
[ 5 AR 2 i A = \
7 N SRR R E) AR AT A R T
9/18~9/24 tr(0.12) MV
JeyiE 1 [PIsRAEER (J1H)
9/16~9/17 nd HV
FLIR T 2 |[fLiE=fiT o (FLigH) 9/17~9/18
9/18~9/19
9/1~9/2 nd HV
A FR 3 |MEEAX—4 (FAHT) 9/2~9/3
9/3~9/4
9/2~9/9 tr(0.05) MV
B R 4 |EHRALE ARG (LA TTH)
9/2~9/9 tr(0.07) MV
A 5 |KWMEESHERERYE X — (Bl
9/2~9/9 0.18 MV
TERS IR 6 | BERIRBTAEBRBEAIZEAT (RKGTH)
9/25~10/2 tr(0.08) MV
TZER 7 | MR — A BRBE R SME R (TR
9/3~9/10 0.16 MV

8 |HHRBREEREOITERT (TL3RIX)
HOUHR

10/19~10/26 nd MV
9 /J\%JESCI%
9/8~9/9 0.39 HV
iy 10 |[MRJINRERER Y% — (F&R) 9/9~9/10
9/10~9/11
9/1~9/8 0.21 MV
R 11 |BRE TR BER A gE AT (i)
8/25~8/26 0.18 HV
iR R 12 [ RIL— B REMER GBrig) 8/26~8/27
8/27~8/28
8/25~8/26 0.25 HV
LR 13 | — AR EREE R RME R (WhE ) 8/26~8/27
8/27~8/28
9/8~9/9 tr(0.04) HV
)11 14 | aREREEREEE v ¥ — (&) 9/9~9/10
9/10~9/11
8/26~8/27 tr(0.10) HV
(LAY IR 15 [ IIAL R A R BRI ST T (H R TT) 8/27~8/28
8/28~8/29
9/2~9/9 tr(0.11) MV
EEE 16 |EFFIRRERSMIET (EFH)
9/16~9/17 tr(0.10) HV
Mgt 2. I 17 | R IRERAEBR BERF TR AT (4515 T) 9/17~9/18
9/18~9/19
0/17~9/24 0.15 MV
i 18 | TR ERIAR (4 H R
9/1~9/2 tr(0.09) HV
—ER 19 |=E\EEREREEMZTET (WA T 9/2~9/3
9/3~9/4
- po [HAARSTAT B A K IR R A A PR £ P 060 HV
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